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Test case identifier Input Specification | Output Pass / Fail
Specification
T1_NPS_STC_002_001 | (UserData)  userA | "paper low Reject | Fail
a.txt Remain Paper | command”
= 4 Remain Ink =
2550 Require Paper
= 24 Require Ink =
80
T1_NPS_STC 002_002 | (UserData) userA | "paper low Reject | Fail
a.txt Remain Paper | command”
= 4 Remain Ink =
2550 Require Paper
=15
Require Ink = 80
T1_NPS_STC 002_003 | (UserData) userA | "ink  low  Reject | Fall
b.txt Remain Paper | command”
= 60 Remain Ink =
1550 Require Paper
= 24 Require Ink =
2000
T1_NPS_STC_002_005 (UserData) userA Remain Paper = 0 | Fall
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teaml.txt Remain

Paper = 20 Remain
Ink = 2000 Require
Paper = 20 Require

Reamin Ink = 0
Status = "Printing”
“data lobby start”

Ink = 2000
T1_NPS_STC_002_005 | (UserData) userA | Status = “Printing” | Fail
teaml.txt Remain | “data lobby start” -
Paper = 20 Remain | > “Current Print is
Ink = 2000 Require | stopping”
Paper = 20 Require
Ink = 2000 = &
Z=0f| cancel
T1_NPS_STC 002 014 | (UserData) OFR7{ | O}FLE  AO{L}X| | Fail
E 9EA| cancel e
T1_NPS_STC 002_015 | (UserData) userA | OFR2 = O L}X| | Fail
a.txt7t SLto | S
cancel
T1_NPS_STC 002 016 | (UserData) userA | OF2 A= A0 L}X| | Fail
atxt?} aaaa b.txt7} | =2
ZL+1 cancel
T1_NPS_STC _002_032 (UserData) userA | RP = 2 Fail
atxt(l1&)Z2HE
WOX|HOf EnterE
)
T1_NPS_STC 003_012 | (UserData) userA | Status =>"printing” | Fail
a.txt Printing = “userA
X =253 1]
X|/EH O] X"
T1_NPS_STC 003_013 | (UserData) userA | Status =>"printing” | Fail

abc.txt userB a.txt

Printing = “userA
iy 253 10|
R/Z4O|X|" Wait
Queue = "userB

b.txtH| O| K| 2"

System test analysis
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You can 1nput commnad
cancel
& 15 stopping
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41 Remain Ink 3 paper S 2%

X ™ CheckPrintDatastz>

L

A
T

for (i =0; i < end; i++) { for (i = top; i < end; i++
aRF += Queue[i].RP; aRP += Queuel[i].RP;
aRl += Queue[i].RI: aRl += Queueli].RI;
1- .}
aRP —-= Queue[top].now; if( top!=end]{ )
afl —= Queue[top] . now_ink: aRP —= Queue[top].now;
aFP += pd.FP: BRI —= Queue[top].now_ink;
afl += pd.RI:
=3 = 4 Z1h
31¥e] HAENUS HHot0] Queue W EQoH 8X|, A3 S5 ALSH0 MY =
EHE X7t Aol iR ALEE WX ofzfet Z0| Bt=
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Remain Paper
Remain Ink
[23:55:51
, RI: Status |printing
nt £ 0
Tobby start Print

¢ t1d - 428144 ,end - 1 Printing |Userl 19/3

-1
1 .t Wait Queue |Userl 31
repro ;
31, RI Recharging is done

RP

Preprof
RP: 31

Remain Paper
Remain Ink

Time

ad 100
Userl test
Preproc Remain Paper
current ti Remain Ink
data lobby start

Tobby tid - 428144 ,end - 1
ch

paper and ink 1

Prepro
RP
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42 AN ==t Display o %A @i= 2F

AE =3 M CountPaper 2= LY

int CountPaper(FILE* cFile) {
int count = 0;
char strBuf[255];
if (cFile !'= NULL)Y {
while (fogets(strBuf, sizeof(strBuf), cFile)) {
count++;
I
I

return count;

ac 48 3
int CountPaper (FILE* cFile) {
int count = 0,
char strBufl[255]1;
if (cFile !'= NULLY 1
while (1feof(cFilel)d{
fogets(strBuf, sizeof(strBuf). cFile):
count++;

¥
¥

return count:

AE X A Printinterface &= LY

while (status. isCharging == ;
it (status.isPrintRBunning == 1) { //If cancel during printing
int i,
char temp_buf[31] = "";
int count_ink = 0
fgetsibuf, sizeof(buf), fp);

P
IE =¥ =2

while (status.isCharging == 1),
if (status.isPrintBunning == 1) { //If cancel during printing
int i,

char temp_buf[B1] = "";

int count_ink = 0;
memset (buf, '#H0', 2550,
fgets(huf, sizeof(buf). fp);

FI1HoR BUS Pb REOIM Y IUS AN BEE F7}
% 3 My Zm

4 A |
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fu

AL £ H™ CancelPrint g Lj
vold+ LancelFrint

status, isPrintBunning = -1;

status.CP = 0;

stropyinow_display.message, "Current Printing is canceled.”);
now_display.status = “wating”:

Display();

Sfwait (MULLY ;

P
IE ™ =2

woid+ CancelPrint()

if(status. isPrintPunning == 0) {
stropyinow_display.message, "Printer is not running.”);
now_display.status = "waiting”;
Display();
Felse |
status. isPrintPunning = -1:
status.CP = 0;
strepyl(now_display.message, "Current Printing is canceled.”);
now_display. status = "waiting”:
Display();

Slwait (MULLY ;

Remain Paper

Remain Ink

: |waiting
e —

Printer is not running.

CH7I 20| HIHUAS Al & =8 S0| otz M cancel B Y Al X XY SOIEH =

0| HFEQCH=s 2TE displaystX| EQULE.
5  Final Result
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